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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these Sections according to

the detailed instructions given therein. Candidate s

s h ould lim it th e ir answ ers to th e qu e stions on th e

given answ er s h e et. No additional (B) answ er

s h e et w ill be is su ed.

  (70)      (02) 

          





       


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Section–A

–

Long Answ er Type Questions

 2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any tw o (02)

questions only.

(05) 

(19) 

(02) 

1. What were the factors responsible for the disintegration

of Mughal Empire ? How far Aurangzeb was

responsible for it ?

   



2. Give an account of the causes, nature and significance

of the invasion of Nadir Shah.

         


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3. Describe the causes of failure of the French and

Success of the English in India.





4. Discuss the causes and effets of the Anglo-Maratha

Wars.



5. How did Lord Hastings consolidate the British Empire

in India ?



Section–B

–

Sh ort Answ er Type Questions

  4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.

    (08)      

(08)

(04) 

1. Saadat Khan (Burhan-ul-Mulk)


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2. Haidar Ali



3. Dual system of Administration of Bengal



4. Battle of Plassey



5. Subsidiary Alliance



6. Invasion of Ahmadshah Abdali.



7. Treaty of Salabai-1782

1782

8. Administrative Reforms of Lord Carnwallis



**************


